John Dingley

Future
{always invariable He aneT, followed by the genitive)

Bac He 6YQeT KOMHaTh.
-, rd ld
MeHA He BygeT cuacTes.

*a rd rd
Hee He OyneT Mmyxa.

N W W

rd 'd rd
Hero He BygeT Bpards.

NOTES

I. Y mMens /ecTs/ ceosd kdmuarta.

Y MeHs HeT cBodi kdmHaTe.
II. ({existential €cTb, cf. French i1 Yy 8, German es gibt)

1. B nepésHe ects yépkoss.
- B rapawé He 6yger mawin.
B yHneepcutéte HE 6bino BuBNMOTEKRM.

B ropoge ectb meTpd?

Vi & w Mo

Ha pexké 6yayT mocTs.

r

400323




John Dingley

1.

MORE ¥ MEHA

o - rd ?2
Y Bac eCcTb aHMrMUMUCKMKW Cnosapb’?
1. fa, ecTb.
2. HeT, y MeHA HeT aHrniiickoro cnoBapA.

[ - ’ 2
¥ Bac aHrNMRCcKMi cnosape?
A ar-aa
1. Hda, aHraovAckui,
’ ro o ’ . ’
2. HeT, y MeHA He aHrnMUCKWM, a QpaHUuy3CKMA CNOBapb.

’. . ’ 2
AHrNHACKKWIA CNoBapb y Bac?
A PR
1. Ba, y mMeHA,
L™ - ’ ’ i
2. Her, aHrnMiAckuiz cnoBapb He y MEHA, a y Hee,

o - rd ?2
Y eac 6bint aHrnUMHCKWiA crnosBapb’
1. [a, Bwn.

’ rd o I
2, HeT, ¥ meHA HE BblNo aHrMMUCKOro CnoBaps.

Fo - Id ?2
Y Bac OuiN aHrAMIACKWI CAOBAapb’!
o
1., fa, aHrnviRckui,
’ o - ’ - 4
2. Het, y MeHA Bun He GHIrAWMHCKME, a (PpaHUy3CKWA CNoBapb.

,. . . 22
AHrAMACKUIA cnoBapb BLin y Bac?
A X 2ab
1. fa, y MeHA,
, o - I'd ’ ar
2. Her, aHrAMAcKui cnoBapbk Guin He y MeHA, a y Hee,

rd ’o " Fd 2
¥ pac BygpeT aHrnuecxuit cnosaps?
2ras
1. lHa, Byper. , , ,
’ v
2. Her, y mMeHA He ByaeT aHrnHMUCKOro cAosapA.

I o " I'd 2
Y Bac 6GygeT aHrnuickuil cnosapb?
1. [La, aHrnuuc..H, .
’ » ’. ” , - #
2. Het, y MeHA Oyger He aHrNMMACKWKA, a (PaHUY3CKMHW Cnosapb.

L4 I I d ’ 2
AMrnafickmi cnosaps Byger y Bac?
y L 22
1. Jla, y meHAa. .
. . Id ’ » ‘ -
2. Her, .aHrnauickuin cnosaps GyaeT He y MenA,¥a y Hee.

*

S
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John Dingley ?5

RELATIVE CLAUSES

KOTAPbIA

Declines like an adjective.

Refers back to a noun in the main clause, and agrees with it in
gender and number,

3. Its case is determined by its function in its own clause.

KTO

=

Refers back to a personal pronoun in the main clause.

no

Wil:i be followed by sg. or pl. verb, as dictated.

3. KOTOpwit could replace kTo, especially in the pl.

Examples

1. Tor, k70 05 3ToM 3Han, Monuan.
’
Te, KTO/KOTOpue 06 3TOM 3HAMM, MOAY3nM.
ToT, kord/kordporo nbBat 66rm, pdro ymupder.
'd ’» r rd Fd '
Te, KTO/KOTOpWE UMTANM KHMFy, Gbink B BOCTOPre oT Hed.
I rd 4 rd I
Bce, xTo/koTdpuwe erd 3nanoT, nkbaT erd,
’ Id rd ’ -
. ToT, KoMy/KOTOpoMy A Aanm KHUrY, Obifl pyCCKHM.

Id I Id
Ta, KTO/KOTOpaR rpycTHa, Bowna B KAMHATY.

CO ~ O B N

* rd ” ’ 4
Te, y KOro/«oTopux BblM A&HLMM, 3anNnaTwim.

NTO

1. Refers back to nonpersonal pronoun.

2. Not replaced by kovdpoe.

Examples

1. To, uTo OH génaer, MHe He HPABMTCA.

. ,
2. OW BMAMT BCE, uUTO A Aénan.
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9.

10.

KOTOPbIA EXAMPLES

Id I d o ra we
YenoneKk, KoTOpui uayuderT PHU3HKY, MMBET 3gecCh.
4 I rd ’ rd Id
Al 3Haw 3Ty AEBYWKY, KOTOpYI Bbl BCTPETMAM BUEpa,
rd rd rd r
A 3HAKW CTYAEHTOSB, O KOTOPMX Bb FOBOPUTE.
I Id ~ I d I - I 'd
A roeopn of 3ToM CTYAEHTKE, ¢ KOTOPOI Bbl XOOWNM B KWHO.
7 » r r 4 Id »
CTypaéHT, K KOTOpoMy Bol xoaunu Buepd, 3HdeT moerd 6paTa.
Id Fd Id rd »
A 3HaL CTyYQeHToB, KOTOPbIM Bbl faNM KHWIM.
» Id Id » - rd rd Id
CTyneHTH, KOTOpHE M3Yy4anT pyccKui A3siK, NW6AT Koponéey.
I I d Fd Id s
Al 3HAKW CTAPOro MyMuUWHY, ¥ KOTOPOrO B MMBETE.
» rd rd ’ - »
Al 3HaW cTapyw MEHWMHY, OMAR KOTOpOA B pabBdTaeTe.

I L4 Id 4
A He 3HaW TY WéHWMHY, KOTOpana NOBMT Bac.

4¢




John Dingley c:?z :?L

WHOSE

Relative "Whose"

This is rendered by the genitive of KOTépuﬁ immediately following the
thing or person possessed. The antecedent will determine the gender and
number of KoTOpw#, but not the case {(which is always genitive).

Examples:
Id

1. BoT uenosék, AOMb KOTSPOro a Buaen.

’ , I d - [d
2. BoT peBywka, nepoMm KOTOPOW A nMcan.

’ 'd 'd rd rd
3. Bot daepo, Ha3BaHME KOTOPOro B YKE 3HaeTe.
4

rd » rd + Id
. BoT cTyaéHTH, KHAMKM KOTOPLIX NewaT Ha cTone.

Interrogative "Whose"

This is rendered by ueit.
This is used in direct and indirect gquestions. UYeit will agree (like an
adjective) in case, gender and number with the noun to which it refers.

Examples:
e »
1. Yew 370 xapaHaduw? 5. 0 ubux WEHax Bb rosopute?
Y 4 ’ ” 4
2. Yeir ator KapaHgaw? 6. A He 3HAD, 4YbK gO4Yb Bb BHZENM.
’ Id .. Id r
3. Ubw goub B BUgenu? 7. A cnpauvsaw, 4be 3TC Nepo.

v I'd
4. B ybeir KOMHaTE CTOMT wKad?

Note:

In "high" style ue# may be found in a relative capacity, e.g.

Id » rd
MyWwKuH, Ubh CTAXOTBOPEHUA /CTUXOTBOPEHURA KOTOpOro/ 3HaeT seck Mup.
; i _

at LY

--
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Te

73

NEGATION
HUKTS He nobody {(declines like kTo)
HUUTS He nothing (declines like urto)
HUKAKOH He no (regular adjective)
HUUéi He nobody's (declines like uei)
HUKOFA& He never
araé He nowhere {location)
HUKYRa He nowhere {motion)
HMOTK§Aa He from nowhere
HUKAK He no way

Double negation is cbligatory, e.g.

A Huuerd He 3Hdp. I don't know anything./I know nothing.

The only exception to (1) is when a single word is used, e.g.
Kto qunéT 3éBTpa? Who will come tomorrow?
Hukrao. Nobody.

He must always be present and will invariably be immediately

before the verdb, e.g.

r L4 .
A Huuero He aHaw. I know nothing.

Usually both negation words will precede the verb, e.g.

A HMkyad He way. I'm not going anywhere./I'm going nowhere,
4 preposition controlling the negative pronoun will "split"
that pronoun, e.g.

S Hu O uem He roeop. I'm speaking about nothing.

The acc. (= gen. of negation) of HuuTd is invariably wvuuerd, e.g.

OH& Huuerd He rmonumaeT. She doesn't understand anything.

There is even a tendency for Huuerd to be used for the nom.
I d L . .

HMuTO. However, for the nom,, HWMUTO is still considered

normative, e.g.

. ’ 7 F * . . N
HuutS/Huuero e 3abotut ero. Nothing worgies him,




John Dingley

12,

13.

14,

NEGATTION EXAMPLES

r rd I d
HukTa He nibut mMeHA.
Id ’
A HWKOro He nwtmo.
rd rd 14
HUUTO He uHTepecyeT MeHs.
'd Id
A Huyerd He noHWMAD.
Id Id I'd
CHa HM C KEeM He roBOPUT.
e 4
OH HM O uem He rosopuT.
' rd 'd Fd
OHM He XOQAT HU B KaKyw WKONy.
I'd 2o I
Mb He MeuTaeM HWM O 4Ybel wewe,
’ _ r
A HuKOrga He Kypwn.
rd ’
Bul HMrge He wmnv B AHrNWM.
L ” I4
OHM HUKYAE He uaAYT.
4 .4 I4
HuoTkyaa He Guno nucem.

Fd , 7
Bu HMKAK He paafpaxaete MeHR,

. ’, . ’
On HMI{OFgé HWM C KeM HWM O ueM He TrOBOpPMT. *

S
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Ham (s
= Ham ec

There
Ham He
= Hert Me

There

Ham 6b

Ham HE

MORE NEGATION

cmetimes y Hac) ecTs Kyaa MﬂTM
Th MBCTO, KYAS Mbl MOMEM WATH.

is somewhere for us to go./We have somewhere to go.
Kyaa HQTM.
cra, KYRA Mbi MOKEM MATH.

is nowhere for us to go./We have nowhere to go.

no Kygé Mnrﬁ. There was somewhere for us to zo,/We had somewhere to go.

Kyna Brno MnTﬁ. There was nowhere for us to go./We had nowhere to go.

Ham aneT Kyaé HaTﬁ. There will be somewhere for us to go.

rd
Ham He

Ceprép

Cepréw

Ceprén

Cepréw

Cepréw

Ceprén

N.B.
the eq
cf., ¥

Kyaa 6§neT MATﬁ. We will have nowhere to go.

ecTh C KeMm roeopﬁTb. Sergej has someocone to talk with,

Hé ¢ keM rosopiTb. There is no one for Sergej to talk with.

BWNO C KeMm roBopwTh. There was someone for Sergej to talk with,

Hé ¢ kem Buino roaopﬁTb. Sergej'had no one to talk with.

6ynetr ¢ ke roBopuTb. Sergej will have someone to talk with,

né ¢ kem Bypet roeopuTb., There will be no one for Sergej to talk with,

Hékoro ete.
Héuero etc,
Hérne
Héxyna
Héxorna
HéOTKyna

There is no nomlnatlve of HéKoro and Heuero, since they are

u1valent of HeT Kord and HeT qero respectively.
MEHA €CTb MaWKHa./Y MeHA HeT MawMHb.
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-TO

specific,

10.

INDEFINITE PRONOUNS AND ADVERBS

-Hubyae /-nubo/
but unknown non-specific, and unknown

5/

viewed as a matter of indifference

KTé=-To // kTd-HuByab somebody /anybody

utd-T0 // utd-HUByab something/anything
Kakdi-To // kaxdit-HuByab some/any

uéii-To // udii-Hubyas somebody's/anybody's
korpd-1o // xorad-vubygn sometime/anytime

raé-to // roé-mmbyae somewhere/anywhere (location)
kyad-to // Kyad-HuByab somewhere/anywhere (motion)
oTkyga-To // oTkyaa-HubEyab from somewhere/from anywhere
kdk-10 // kdx-HUByab somehow/anyhow
nouemy-10 // noudemy-nubygb for some reason/for any reason
3BOHUN MHe KTS-HUByaL?

Aa, Bam KTS-TO 3BOHYN,

OH rosopin ¢ kém-To.

O xduet rosopiTe ¢ kéM-HMBYabs Ha coBpdHum.

CrawiTe mue utd-nmbByas!

OH ckazdn mHe uté-ToO.

Bu nmcdnu emy o ueM-HHGynb7

Aa, A nucdn emy o uem-to,

Mapia uuTdna Kaxyn-To KHUTY .

KyniTe MHe Kawyo-HuEyab KHAry!

Mbl rOBOPUM © KaKux-TO aKTepax.

flaBai roBopUTL O KakWx-nMb6o akTepax!

Bapyr # ychmbiwan ubi-To ward. ’

Ybi-nubo KHArM nexdT Ha cTtoné. ;

A wxmn korgd-to Bo ¢pdHumm.

Mot yBAAMMCA KOrgd-Hubyab.

Tamipa w¥na raé-1o B AHrAMK.

Tamdpa wendeT wuTb raé-Hubygb B AHrAMM,

Mo xoTUM noéxats kypd-Hubyas.

B npdunom rogy ms é3guau kyad-to.

Id I d 7 ’ I

JiHa nonyumna 3Ty KRUMM OTKYRa-TO.

JocTéHb MHe 34Ty KHATY oTKyga-HuByab!

Kdna kdk- TQ pewin 3aaduy.

»

Mdwet nu Kdna wdk- HUEYAL MPOYMTATE MOK KHUCY?

Onér nouemy- TO He npUWeEn,

Ecnn au nouemy HUByabE He XoTWTe npwau, nosaQQMTe MHE,

HITIPP
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Notes:

KTO === HM
UTO -== HKM
Kardi =-- MK
Yern === Hu

Id
KOorga -=- Hu
rge -=-= Hu

Id
KYB3 =~= HMW

I3
OTKYAa === HH

KaK === HM
’
CKOTbKO ===

I d
Korpa oH Hu
Whenever he

Korpd 6u oH
Whenever he

HU-EVER

whoever

whatever
whichever/whatever
no matter whose

whenever

wherever {location)
wherever (motion)
from wherever
however

HH however much/many

npuaeT, A 6yay paa.
comes, I'll be happy.

HU npuwen, A 6yay paa.
might come, I'11l be happy.

Kak Hu ndagHo oH npupér, a Gyay pan.
However late he comes, I'11l be happy.

rd -
Yta vm roeopun, A He Byay paqg.

Whatever is

said, I won't be happy.

Hu is used without another negative element.

Hu imparts a "generalizing" meaning.

This "generalizing" meaning will usually be rendered
in English by: whatever, whoever, whenever, ete.,

cr; no matte

r what, no matter who, ete.

S

If used without 6w, there is an implication of reality.

(See 1 above

If used with b, there is a hypothetical implication.
(See 2 above.)

Hu usually precedes the verb but can occur elsewhere
to emphasize the word that follows.

A generalized subject, e.g. one, you, they, passive,
can be expressed by the imperative,

.)

000132
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12,
13.
14,

15.

HU-EVER EXAMPLES

LY

I'd I4
KTo 3T0 MM agenaeT,
» 4
Koré ew HW BUagMTE,
L
0 koM Bb HW FOBOPUTE,
I4
Yto Bac HM UHTepecyerT,
V I'd
Yem Bbt HU nuvweTe,
’ ”, i Id
Kakaa KHMra MM nexmT Ha cTone,
I'd ’, ,
Ha KaxkoM A3bKE Bl HM FOBOPWUTE,
rd Id I'd
UbA KHWMra HW RNewuT Ha cTone,
” e
€ YbWM CbIHOM Bbt HW WAETE,
’, "
Korga Bel HM npugeTe,
Foe OoH HW KMBET,

Kyad eo HM ngeTe,

’ I .4 » »
OTKYRa OHA HW nonydaeT 3TM rasetnl,

’
Kak oH HW cTapaeTvca,

14 I'd
{kOnbKo OH HW paBdTaer,

B

I'd

Kto 6w 310 nM aénan,

I'd I
Koré Om Be HM Bagenu,

I4
0 koM Gb Bel HM FOBOPMNM,
r
Yo Bel Bac HM MHTepecoBano,
»

YeM But Bbl HM MMcanwu,

Id , 4 I'd
Kakaa 6u KHUIra HW nexana Ha crone,

Id L 14
Ha Kaxkom B A3bIKE Bbl HA FOBOPWIIH,
”» » ’

Yoa Bbl KHWra HW nNewxana Ha crone,
C ubum 6L CHHOM Bl HM WMM,

I I 4
Korga 6w Bel HW npuwwnu,
Fae G OH HW ®KN,
Kyné Obl Bb HW WK,

rd » r rd rd
Otxyna Ow OHA HW nonyYana 3Tk raseéTs,

’,

Kak 6w oH HM cTapancsa,

I'd
Ckénbko Bbl oH HM pabdTan,
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Verb schemes

1st Conjugation (endings 10/y, ¢(é)mp, 10/yr
Suffixed jot-stems

quTATE HUTAK YHTACIs 9HTAIOT ‘read’

maTAun; npoulTan

—opa verbs

cnEnosars cnEnyio cnExyetns cnEnyror ‘follow’
ciEnoan; npocnEaosan

root -oBa—

KoBATH KyIO xyéims kylOr “forge’

KoBAT; packOBaH

roots in —aBa— (—AaBATb, —CTABATH, —3HABATE)
jpaBATs 1alO paémr galOt ‘give’ (impf.)

naBai, fasaii!; nponaBAemM

—ei-

kpacHETs kpacHEio kpacHEenis xpacHEl0T ‘redden’ (impt.)
xpacHEN

Present tense mutations

nucATs Y nhmems nuryT ‘write’

nucAun;, ganttcan

Monosyllabic stems in a-

WIATh XKIY *KASb KAYT ‘wait for’

MOan, XAANA, XAAN0, KAATH

Opars Oep¥ Oepéuis bep¥T ‘take’ (impf.)

6pAu; Bbl6par

Resonant Stems

XHTh KUBY XuBEmb #uBYT ‘live’

*ui, KuIA, KA, npOxuT




KaTh KMy HMELWbL KMYT ‘press’

Kal, xAna, KAI0; HAKAT

B39Th BO3MY BO3bMENTH BO3sM YT ‘take’ (perf.)
B38N, B3ANA, B3Smm; B3gT, B3ATA, B3ATO

CTaThk CTAHY CTAHEB CTAHYT “become’

ctan, CTAna, CTAIH

HaaHY HAYHEINhL HAYRET HAUHYT ‘begin’

HAuazn, HadaA, HA4ano0; HAv4at, HayarA, HAJara
3au AT 2aiiMV 3aiiMEnip 3aiiM YT ‘occupy’
SAHAI 3aHUIA, 3AHAN0, 3AHLIK, 3AHAT, 3aHATA
obmSITE 06HEMY oGHHIMems oOHIMyT ‘embrace’
O6a:1, 00rUTA, O0uano; O6RAT, 0OHATA
ymepErs ympV ympéms ympYT ‘die’ (perf.)
‘VMep, yMepiA, YMepima; yMEpnmmaii

xonQte kontO xOnems kOmor ‘stab’

xonOm; packOnor

Consonant stems: dentals

HecTH HecVY HecEmb HecYT ‘carry’

néC, HecnA, necnQ, necnl; npuHecén

BeatH Be3Y Be3éuis Be3YT ‘convey’

Bé&3, BeanA, Be3nO, se3n; npupesEH
Consonant Stems: velars:

Mous MoryY MOskems MOryT ‘be able’

Mor, MoriA, Moar(Q, MmornH

WeYb KTy HOKSIIB KTYT keub ‘burn

2
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cEan, cEana, cEamu, paccEan

HaaEsaTeed HaaEwock HangEemsca ranEiorea ’hope’
HanEsncd, HanEsanace

emefAteea cmMelOch cMeémbea cmeérea emelOrea ‘laugh’
cmeflncs, emeSnace, cMeSmch

OHTH 6510 O5EmE OBIOT ‘beat’

6mn, 6HMna, 6HMnm; 6wt (man, manA, nim, 1OouT ‘drink’)
Muth MO MOems MOroT “wash’

mru1, Mblna, MbLmu, ymbIT

Suffixed in -ny—

kpUxHyTh KpHUKHY xpHKxnems xpUaxyT ‘cry out’
kpHxnyn, xpHxayna, kpHkryma; sckpHkayT
ucuE3nyTs ucuE3ny neuEsnems ucaE3HyT ‘disappear’
ucyEs, ucuEana, ucubzm

Second Conjugation io/y, Hmb, 8/aT

6pOcuts 6pOwry 6pOcums 6pOcar ‘throw” (perf.)
6pOcnn, 6pOcuna, 6pOcuin; BHOpomeH

so3BparATs BozBpamyY Bo3pparlime Bo3epatsT ‘return’
po3Bpartin; Bo3spamén

rosoplO roeopHums rosopst “say, speak’

rosopHn rosopHina rosopunn

rocHTs HomY HOcHmE HOCAT ‘bring’ (non-determined)
"ockn; m3nQOmen

sUaets BMxy s aums BUaT “see’

sUnen; ysHpen

emoTpETE cMoTplO eMOtprms cMOTpar ‘look at’
cMotpEn; nioeMOTtpen

septETe BepaY BEprums BEprar ‘twist, revolve’

¥b




st

seprEn; HasEpaen

cinblmars cnblury enblmmuams cablmar
cablman; moacnbloran “hear’

Kpu9ATh KpHIY kpaaHms kpugAT ‘cry out’
KpHYAIT

AepKATE aepxY nEpxunis nEpxkar ‘hold’

aepxAn; sblnepxan
ctofTe cTolO ctoHmE croflT ‘stand’
cTofn

Irregular:

OrrTe 6 Yy 6Vnems 6Yner 6Yayr ‘be; will be’

6511 66UTA Oblno 6blmu; cOrrT

Aats aam famb facT AajkM nanlite nagVr ‘give’ (perf)
Aai, nanA, nAma; npOnan

€CTh €M ek ecT eflM exre enfT ‘eat’

en, Ena, Emn;, crEnen

uar¥ uny anéom waaét unYT ‘walk, go/come on foot’
wén, mnA, wnl; npOiinen

nodtH, moiny noiinéms, moitaVT ‘set of”

nomeén, nouutA, noouid

Exars, Eny, Enemmn, Exyr ‘ride, go’

Exan, Exana, Exanu
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<4

VERBS OF MOTION

1. The term "verbs of motion" does not refer to all verbs whose meaning is
some form of movement, but to a specific small group of verbs, which, within
the imperfective aspect, show a further aspectual distineticn: determined vs.
nondetermined. The determined aspect is the marked form, insisting on the
movement taking place in one direction. The nondetermined does not insist on
this meaning. It has a broader spectrum of meanings, the most common of
which are: 1. repetition of a motion, 2. the habitual nature of a motion,

3. & round trip, i.e. a motion there and back.

2. Here are the most common "verbs of motion":

determined nondetermined basic meaning
MaTH XOAWTh go (on foot)
éxaTb 630MTh go {in a vehicle)
GexaThb 6éraThb run
neTéThL neTaThb fly -
HecTH HOCHTb carry
BECTH BOAWUTH lead (on foot)
BeaTH BO3UTL lead (in a vehicle)
MnbiTh nnaeaTte swim
nonaTv ndénsaTthb crawl
TawMTh TackaTh drag |

3. Neither the determined nor the nondetermined has a "real" perfective
aspectual counterpart. However, the determined can be prefixed with no-,
which adds an ingressive nuance, and this form is very close to an aspectiual

counterpart. e.g.

MBaH noéxan. Ivan went /Ivan has gone / i.e. Ivan has set out.
MBdn nonetén B AdHAon. Ivan flew to London. i.e. set out for...

N.B. The prefix no- in conjunction with determined "verbs of motion”
has this ingressive meaning, not the usual meaning of no- "for a little
while", e.g. WBan nountdn. Ivan read for a while.
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PREFIXED "VERBS OF MOTION"

g9

1. When prefixed, a determined "verb of motion" becomes a new (independent)

perfective verb, e.g.

<. The imperfective counterpart of this new perfective verb is obtained in

HeCTH -- npuHecTH (pf.) to bring
ewars  -- yBexdTte (pf.) to run away
uaTH -- BuiTH (pf. ) to go out

cne of three ways:

1.

2.

3.

by prefixing the corresponding nondetermined verd, e.g.

HOCHTL - ApuHOCKTE (impf.) to bring
rd rd
HECTH -- npuHecT (pf.) woow
XoguTL | -~ npuxoqﬁTb (impf.) +to arrive {on foot)
MaT - npuiTh (pf. ) n oo
neTéTb -— ynetdte (impf.) to fly away
netéts  -- ynetérs {pf.) noon
BOAMTE == yeoguTs (impf.) to lead away (on foot)
I d [ 4
BECTM -- yeectu (pf.) .
803UTL  -- yBO3UTh (impf.) to lead away (in a vehicle)
Be3TH -- yseaTtu (pf.) non

by prefixing a related form of the nondetermined verb, e.g.

éaguts -~ npueanats (impf.) +to arrive (in a vehicle)
’ —_—
€xaTeb -- npuexaTts (pf.) noon
Id 4 . -
nnaeate --.  ymwsate (impf.) to swim away
AT b -- ynauTe (pf.) n ow
Tackate -- yTéCKHBaTb (impf.) to drag away
TauUTL -~ yTaumts (pf.) " oom

by prefixing the corresponding nondetermined verb, but with a

change of stress, e.g.

6érate -~ yﬁeréTb (impf.) to run away
rd
Hexats -~ yGexate (pf.) w o
ndnaars -- ynonsate (impf.) to crawl away
’ _—r
ROA3TH  —-— ynonath (pf.) nWoon
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CONTD.

3. Wnen a determined verb is prefixed with no-, e.g. nowTW (pf.), there is
no corresponding’imperfective formed by prefixing the nondetermined couwnter-
part, i.e. noxogute (impf.) does not exist.

4. HNondetermined verbs are socmetimes prefixed to create new perfective verbs,
which have quite a different meaning from the base "verb of motion". From
these perfectives new imperfective counterparts are sometimes derived.

(Wote that it is the actual nondetermined form which is prefixed, and not

the related form.) E.g.

6301 Tb -- o6vé3gute (pf.) to break in a horse
o6bveé3wmBaTte (impf. ) o

XOAWTh -- cxoguTh (pf.) to go there and back
(no impf.)

XOAUTb -- noxogdTh {pf.) to walk for a while
(no impf.)

5. It will be seen that confusion can arise, since a prefixed nondetermined
can now be imperfective, now perfective, albeit with quite distinct meanings, e.g.

MATH -- coitti {pf.) to get off/come down
rd I
XOANTb -- cxogiTh (impf.) wooow
XOAUTh -- cxoguth (pf.) to go there and back
no impf.)

OH cxogﬁn c nécTHMum. (impf.) Ee came down the stairs.

04 cxogvn Ha nduty.  {pf.) He went to the post-office.

6. Some "verbs of motion" (especially uaTW) can have other meanings.

- 000053
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Participles and Gerunds

1.0 Russian has four participles, each of which has features of verbs and adjectives. Like
adjectives, they have gender, number and case and agree with a governing nominal phrase. Like
verbs, they have voice (active, passive, reflexive) and tense (present and past), and they may take
noun complements, such as accusative objects, genitive, dative, or prepositional complements,
and the like.

They are: present active, past active, present passive, past passive, Of these only the past
passive is frequent in all forms of written and spoken Russian; al four are common in the written
language. You should be able accurately to identify all participles, and be able to form and use
past passives.

2.0 The active participles are syntactically very much like xoTopriii—clauses with the relative
pronoun in the nominative. Thus

a) 4eJIoBEK, KOTOPBIA [HIIeT Ha Komnstotepe ‘the man who is writing on the computer’ is the
same as

6) 9enonek, nMnrymmit Ha komneioTepe ‘the man writing on the computer’;

so also the following, with the noun and the participle in an oblique case, is equivalent to a
relative in the nominative:

B) # 3HAIO CTY/EHTOB, KEeNAIOIMX H3y4aTs pycckuii ‘1 know students wishing to study Russian’

a

T) 5 3HAIO CTYJICHTOB, KOTOPHIE HENAOT (XOTAT) H3ydark pycckuit ‘I know students who wish
(want) to study Russian’
Note that Russian has a comma before both a participal clause and a relative clause, unlike

English. The comma does not mark a pause, but rather the beginning of a subordinate clause,
especially one in a wh- word (xto, uTO, mO4EMY, XorAa) Or a participle.

Active participles may be transitive or intransitive; their endings are like those of husher-stem
adjectives with stem-stress, and they take long forms only (are only used attributively). They
agree in case, number and gender with their controlling referent, while relatives agree in gender
and number, but take their case from their syntax inside their own clause. This is a critical
distinction. Be sure you understand what I am talking about here.

We have:

I) 5l MAIIy KHETY O PYCCKHX MHCATENAX, KOTOPHIE XHBYT 3a rpanunel (relative xoToperi refers
to ‘writers’ and thus is pl., but it is nom as the subject of ‘live’, not prep, which the referent
bears)

€) Sl mAnIy KHMTY O PyCCKHX TTHCATeNsX, KHBYIIHX 3a rpauunei (part. agrees fully with referent
in case, number and gender, like an adjective)
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Thus 1 ‘T am writing a book about Russian writers (prep. pl.) who (nom. pl.) live abroad’, ¢ ‘I am
writing a book about Russian writers living (prep. pl.) abroad’.

Reflexive active participles add the particle -cs1: Hen0BeK, 3aHUMAIONMHCS PYCCKEM (= YENOBEK,
KOTOPEIi 3aHUMaeTCH pycckuM, ‘the man studying Russian’.

In Russian the sentence “This is a book about which I am writing a review” would have to be
) 9TO KHHTA, O KOTOPOH A ALY PEIICH3HIO

without the possibility of a participle, since the relative is not the subject of its clause. Compare
substandard English ‘this is a book what I'm writing a review about’, a rather unlikely utterance.
Colloquial Czech has the same construction as English: fo je kniha, co o ni pifu recenzi, lit. “this
is a book what I’m writing a review about it’. Avoid this in Russian and in English, and model
these sentences on x above.

Unlike x above, active participles are phrasal; they are not complete sentences.

2.1 Formation of the Active Participles

2.11 The pres act part is formed by replacing the -1 of the 3rd pl by w—wuii, —as, -ee, etc.
aurAjorgii, ropopAmmt, 6epYmuii, 66l0muit, cnExyrommuii; 6oSlmmiics, saHumAlonmmiics.

In 2nd-conj. verbs with mobile stress, the stress is normally that of the 1st sg.: mro65mmii,
npHHOC S,

The pres act part is only formed from imperfective verbs.

2.12 The past act part is formed by replacing the 11 of the past tense with —mmii, —Binas, —Bimee,
etc.

Both perfective and imperfective parts occur:
YHTABLIMH, APOUMTABIIAI, TOBOPHBINHI, CKa3aBITHH, MHCABIIMIA, HATACABLIHH.
If the masc has no 1, the suffix is truncated to —mii:

HectHl, néc, nécmuit, ymepETrs, YMep, ymEpiumit (note stress). For some consonant stems the
suffix is —mmuit added to the consonantal stem:

nepesectH ‘translate, carry over’, nepesén, nepeBExmuii (e, not &)
sansectH ‘bloom’, 3armén, saupETimmii
2.2 Tense Relationship

The tense of the participial clause is normally that of the main clause, and a present active and
past active may be roughly interchangeable. A perfective active part must be past, and it marks
an action that is no longer in process and so is staged as occurring on the background of an
imperfective event:

3) CTY[IEHT, pemaomui 3aja4y, CTOMT ¥ okHa ‘the student solving the problem is standing at the




window’
K} CTYHOCHT, peIuaioliil 3anady, crodn y okHa ‘the student solving the problem was standing’
K) CTYJCHT, peluaBiuunit 3anaqy, crosn y oxsa ‘the student solving the problem was standing’

JI} CTYAEHT, peIIHBIMH 3a1a4y, cen ‘the student who solved the problem sat down’ (he completed
the solution and then sat; sequence of two perfectives)'

M) CTY/[ICHT, PEUTMBINHIA 3aa4y, CTOHT y OKHa ‘the student who (had/has) solved the problem is
standing by the window’ = (first) the student solved the problem, now he is standing

2.3 Notes on semantics and syntax.

2.3.1 Active parts may occur as pure adjectives or even as nouns: OpBIHi apodeccop
“former professor’ < “who was’, yaAnmiica ‘student’ < “who is studying’. You will encounter
adjectives having specific or technical senses that are formed from older purely Russian
participles with the suffix -unii: crofIuas Boua ‘standing (stagnant) water’, sucumit MocT
‘suspension bridge’, I'epuen, B Jlongone cunlOunii ‘Herzen, ensconced in London’ [adapted
from Nabokov’s Dar, where a gerund is used].

2.3.2 Nested constructions with ‘participle + complement + noun’ are common in writing. They
are bookish and are perceived to have a pejorative ‘German’ flavor:

Bce rosopsimae Ha PYCCKOM S3bIKe CTYIEHTRI H YUHTES TOIHAIH PYKY B OTBET Ha BOIPOC
‘all students and teachers who spoke English raised their hands in answer to the question’,

OnEH B3 CAMBIX KPACHBBIX CYIIECTBOBABIIHAX YiKe B TPHHAAMATOM CTeJIETHH cofopon
HaxoyuaTes Bo Opanm ‘one of the most beautiful of the cathedrals which existed already in the

thirteenth century is situated in France’.

2.4 Examples of active parts. Translate and turn into relative clauses in full sentences, watching
the tenses.

1. Llaps ocTaBHII ABYX CHIHOBEH, pOSHBIIHXCH I10CNE €TO CMEPTH.
2. Mama cripociia JOPOTY Y HPOe3KAImIero MEMO HX 3JaHHS TAKCHCTA.

3. l'ocnoxa CraBporraHa octaBHna Gymard y Hadero ae noaumalomero Crenana Tpopumnuida
¥ OTOHUIA,

4. BpeMs HAeT MEIUICHHO I JIoAeH, A& ynux 3y0Horo BpaJa.

5 TMnndeccan Hoarorog goenosanmail Rnsasmmamoia mumy 0 nveowrnail My2nimes TNITLyn U
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BepHYJICH H3 MOCKBEL
6. Ha ypoxe MuI pasroBapaBaii 0 pacckase JlocToesckoro, Hassigalomemes “Kpokoana”.

7. IlouTH Bee MO APY3IbS B 3HAKOMBIE, KYPSIHE B MOJOJOCTH AMEPHKAHCKHE CHIApeTDI,
YK€ yMCpIIH.

8. Bcex roToBSIHXCH K JK3aMEHAM B HIOJIE IPOCHM 3aHTH K THPEKTOPY.

9. Yuennxam, He NepemeiEM B clIeAYIOIHH KIACC, COBETYIO OPOCHTE YUCHHE.

10. bubmroTEKy, HAXOAAMIYIOCH HEAAJIEKO OTCIOAA 10 STOM YAMIE, CTOHT IOCETHTE.

3.1 The pass participles, long-form, are used attributively, as are the active participles. The
passives correspond to a koTopsii clause with the relative in the accusative:

a) foM, nocTpoeRnasIi Hamel Qupmoii ‘a building built by our firm® (past pass long)

6) oM, KoTopBIH NocTpoRaa Hama ¢upMa ‘a building which (acc) our firm built’ (relative in
the acc)

B) MHp, nosHaBaeMEni Kanrom ‘a world being perceived by Kant’ (pres pass long)

r) MAp, xoTopbiit KanT mosraér ‘a world which Kant is perceiving’ (relative in the acc)
1} OXHO, OTKpEITOE MANEAIHKOM ‘a window opened by a boy’

€) OKHO, KOTOpOo€ MaTBIHK OTKpBUI ‘2 window which a boy (had/has) opened’.

Note that these are not complete sentences. Note also the presence in a), B), x) of the agent in the
instrumental case, while the logical object is the nominative subject; in 6), 1), €), koTopHIi
appears in the accusative, standing for the referent, and the agent is in the nominative case.

These objects, or referents, may themselves appear in any case in a sentence. The participle will
agree with them in case, number and gender (bolded forms below); xoropriit will agree with
them only in number and gender, always being in the accusative (in brackets below):

al) g rosopro o nome, nocrpoerHoM Hamel $upmoit, ‘I’'m talking about the building built by
our firm’

61) nepex [moMoMm, KoTopsiii] mocTponna Hama ¢upMa ‘before the building which our firm built’
B1) mer mupa, nosaaeaemoro KanrtoM ‘there is no world being perceived by Kant’

r1) ner [mupa, kotopsnii KanTt no3ragr] ‘there is no world which Kant perceives’

n1) o6 oxne, OTKpBITOM MANEIAKOM ‘about the window opened by the boy’

el) k [oxny, koTOpOE] MaNBUHK OTKpBLT ‘up to the window which the boy opened’.

In 61, rl, el the relative is in the accusative, the object of the verbs mocrpomna, mosmagr,
orkpuul. In al, Bl, nl, the long-form participle agrees with its referent in case, number and
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gender, while the subject of the participle is in the instrumental.

3.1.1 The passive voice is often expressed in Russian by an object in the accusative fronted to the
head of the sentence, and the agent or instrument in the nominative following the verb. This is a
way of focusing on the object as the topic of the utterance, which Russian, due to its case
inflections, easily permits:

a3) nom nocrpomna Hama ¢upMa ‘the building was built by our firm’

r3) mukakoro mHpa Kanr me nosnagrt ‘Kant doesn’t perceive any world’/’There’s no world
(which) Kant perceives’

13) okHO OTKpEU! Mankuuk ‘the window was opened by the boy’
Note that in ambiguous cases this order cannot be used, e.g.:

€) MaTh JnoOHT Aode ‘mother loves the daughter’ cannot = ‘mother is loved by the daughter’,
while
%) Tamro mobut Mama ‘Tanja is loved by mother’ is good.?

2. Another way of expressing what in English is the passive voice (be + -ing + past participle:
‘the ball is being hit by the boy’) is the Russian imperfective reflexive: aom crpomnca Hamei
¢dHpMoii’, ‘KHHTa IHCANACh BO BPEMA BOHHEI = JOM NOCTPOMIIA HAmMa (GUpMa, KHUTY HANHCAIH
(vuéHrle) Bo BpeMa BoiHbl. This formation is limited, largely, to inanimate objects and is
restricted lexically (one may see: oH canTaeTCs MydImEM CTYAEHTOM B rpynie ‘he is considered
the best student in the group’ ~ oH cumTaeTCA BeeME IyImIHM CTYACHTOM B Ipynsie ‘everybody
thinks he’s the best student in the group’ ~ oH cunTaeT ceba NYUINM CTyIeHTOM B rpyiine’ ‘he
considers himself the best student in the group’. This verb is rare for its flexibility in passives.
Note that kaury (Ha)nEcamm Bo BpeMs BOHHBI is an impersonal passive ‘the book got written
during the war’ vs. focusing personal 31y xe kuary Hanacas JJocToepckHii BO BpeMA BOHHSI ‘it is
this book, however, that Dostoevsky wrote during the war.’ See the pres pass part, short form, for
a final word on passives.
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3.2 The pass parts, short-form, are like short adjectives. They are predicative and express past,
present, and future tenses. They agree with their referents in gender and number, but, like short
adjectives, they have no case. They are always subjects, always caseless. They really are short
adjectives: HarmmcaH ‘it is written’, 6egen ‘he is poor’ as they contain a predicate with implicit
tense. They express a verbal action borne upon a noun which is the subject:

) aoM noctpoen ‘the house is built’, ‘the house has been built’
K) oM Obu1 noctpoen ‘the house was built [at such and such a time]’, ‘the house had been buiilt’
3) oM Oyzet moctpoeH ‘the house will be buiit’

This is unique in the Russian tense heirarchy as it permits a present perfect with the zero copula,
as in e) above; ‘look, the house has been built [now as I speak it is completed]’. Note that a bare
short form, with present tense, cannot mean ‘was, were’: THCBMO IIpOYHTaHa cannot mean ‘the
letter was read’; it must have present relevance, hence ‘the letter is read/has been read’.?

Note therefore:

H) ypa, MOs KHHTa, HaxoHet|, Hanucana ‘hurrah, my book, at last, has been written’
) oteer Halinen!’an answer has been found!”

k) Bcé norepano! ‘all is lost!’

JI) cKazaso, caenano ‘[no sooner] said, [but] done’

The short-form pass part, therefore, does not correspond to a relative clause, or to a phrase or
clause of a sentence. Rather, it expresses a complete sentence, even if it stands alone, as in )
above, where subject and object are only understood and not explicitly mentioned.

A short-form is a complete predicate, expressing ‘X is/was/will be done’; a long-form, on the
other hand, is a noun phrase meaning ‘X, which was (done}).

If you were asked to paraphrase n, #, k, 1 above, using relatives, you could say roughly:
H1) XHHra, KOTopyio 1 mucas, rotosa ‘the book which I was writing is ready’

3. Notice the present relevance that is inherent also in short adjectives and in equational
nominatives with zero verb: 1 6enen, JoM MOCTPOER, TH AypaK, OHa KpacHsa, arna océll, IHBO
semmto ‘I am poor,’, ‘the house is built’, “you are a fool’, ‘she is beautiful’, ‘father is an ass’ ‘the
beer is/has been drunk up [not was drunk up]’ Or, to take a much more eloquent example, the
epigraph to Smirnovsky’s Russian grammar textbook from Jap: “/ly6 — aepeso. Poza —
nBerok. OneHs — xuBotHOE. Bopobeii — nuiia. Poccus — name otegectBo. CMeprh
"ensbexna,” ‘an oak is a tree, a rose is a flower, a deer is an animal, a sparrow is a bird, Russia
is our fathrland, death is inevitable.’
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H1) oTBeT, KOTOPBIH MBI HCKaTH, HakoHel y Hac ‘the answer which we sought is ours’

K) BCE, 910 y Hac 6but0, Hcuesno ‘everything [which] we had has disappeared’ (after pronouns,
4T0, XKTO take the place of relatives).

1) TO, YTO ThI CKA3a/1a, 3TO MEI cenamu ‘what you have said we have done’.

It is interesting that these periphrases contain relatives in the accusative, which is the marker of
the long-form past pass part, in the context of complete utterances with predicates, in turn the
marker of short-form past pass parts.

3.2.1 From this it follows that long-form pass parts are equivalent to the relative plus short-form
passive parts:

72) ckasaHHoe MHOM — caenanHoe MHo# ‘the thing said by me is the thing done by me’ = ro,
YTO CKa3aHo MHOH, ChaemaHo MHOH

u2) kHHra HanucanHas Muo# ‘the book which was/has been written by me’ = xuura, KoTopas
(Ovu1a) HamucaHa MHOH

#2) otser Halinenusli MHOK ‘the answer which was/has been found by me’ = oTBeT, KOTOpHIH
Halizten (65uT) MHO#'

3.3 Formation of the pres pass parts.

3.3.1 The pres passive part is formed only from transitive imperfective verbs, like the pres active.
It is regularly formed only from stems in 3rd pl -asot, —yiot. The long form (attributive) is much
commoner than the short form. The suffix -1 is added to the stem in a-: auTars YnrTaeMbii,
pemIaTh pelmacMbif, THKTOBATH JUKTyeMbIi. Verbs in -amate regularly form these participles from
the infinitive stem: nasAemziii ‘being given’, mponasAemsiii ‘being sold’, nosuaBAemsiii ‘being
perceived (apprehended)’, y3naBAemsiii ‘being recognized’. From 2nd conj verbs note
mobHmerit ‘being loved’; it is a pure adjective, ‘favorite’.

There is a growing number of pres pass parts from verbs with a noticeable modal meaning,
especially with negative verbs, as in neobxontmsiii ‘indispensable; which cannot be passed
over’, HenoxoneOHMe1i ‘unshakeable’, senpenOnHbiii ‘immutable’. These adjectives are really
not pres pass parts, but technical adjectives. In general, avoid using this participle, although you

4. Here is the third way Russian has of expressing the English passive (see note 2 above).
Krra sancana moum Gparom ‘the book has been written by my brother’, nensra yrpagens:
Bepru Maniopom ‘the money has been stolen by Bemie Madoff”. Discovering these three covert
expressive equivalents in Russian and describing their varying passive-like functions is really
what contrastive linguistics does. Charles Townsend always used to say: “They say knowing
another language helps you understand English. I say, your knowledge of English can help you
learn Russian.” So Russian verbal categories plumb the depths.
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will meet with it often in writing; these modals, however, are very useful, but must be learned as
set vocabuary.

3.3.2 The past pass part, on the other hand, is crucial to master as it is fundamental to all registers
of everyday Russian. It has two suffixes: T, (e, &)n.

3.3.2.1 The overwhelming majority of past passive parts in standard Russian are formed from
perfective verbs and denote a single event or series of events. In colloquial speech one may find
a variety of imperfectives denoting states produced by events, e.g xapenas xapromka ‘fried
potatoes’, BapeHas puiba ‘boiled fish’, conénriii cyn ‘salted soup’ and the like; the single -u—
testifies to their status as pure adjectives derived from past passives.

Of complex (suffixed) verbs, only verbs in -Hy and those in -o- have the pass part suffix —r:
cBEprayTs, cBEprayT ‘overthrow’, orBEpreyTs, oTBEPTHYT ‘deny’, capHuyTs, casHayT *shift’,
cxonOts, ckOnoT ‘prick’. Otherwise only resonant stems have this suffix, which means that it is
unproductive but represented by numerous important verbs. Stress usually follows the past tense,
that is, if it is mobile (with fem ending stressed), so also is the pass part. Some examples:

WKATE — KABY T wun, KunA, wxlmn  (npO—, nEpe)xut, -xuTA  ‘live’; mobile

et — AEHYT Ben, aEna, nEnu {(0o-)aEt, —aETa, -nETHI ‘put’; stem-stress
OyTh — OYIOT Iyn, nyna, 1y {c-)myT, ~AYTa, ~AYTH “‘blow’ stem-stress
rpets — rpEifor rpen, rpEna, rpEnn  (va—)rper, —rpEta, -rpETHI  ‘warm’ stem-stress
MEITE — MOIOT meUL, Mblna, MBlmr  (y—)MmblTt, —MblTa, -Mblter  ‘wash’; stem-stress
1epETE — TpYT 1€p, Tépna, Tépiu (c—)répt, —1épra, —TEPTH ‘rub’; stem-stress
HAa4ATh — HAaYHYT  HAw4an, HauanA, HAdanu HA4ar, HagatA, HAdatel ‘begin’; mobile
B3ATH -— BO3BMYT  B34UI, B3SUTA, B3SIIH  B34T, B3ATA, B3ATH ‘take’; mobile
KaTh — KMYT JKan, KAMa, KAm  (c—)XarT, —XATa, ~3KaTkl ‘press’; stem-stress

noHfATE — oMY T nOHDI, TOHATA, —H TORAT, NoHATA, HOHATEH ‘understand’; mobile
3apflTe —3alMYT  3ARAN, 3aHANA, —H 3AHAT, 3aHATA, 3AHATH ‘occupy’; moblie

nogHATE — nogaAMYT TOaHLL, MOAHAIA, —H nOauatT, nomuarA, nOoHATH
‘pick up’; mobile
CHATh — CHUMYT CHAII, CHEIA, CHSLIH  cHAT, CHATA, CHATH ‘take off”; mobile

3.3.2.2 Verbs outside these closed classes do not take T.

The suffix (e, &)u is found in verbs in 2nd conj with suffix u. Stress follows the present tense:
stem- or mobile-stress on the stem, end-stress on all short endings: nonpolllen, nonpOmena,
rionpOimeno, nonpOniens! ~ ofpanén 06BuEeHA 06BHHEHO 00BHHEHbI. U causes mutation of
consonants just as it does in the 1st person sg and the derived imperfective verb. This is a rich
and variegated class. Church Slavonic mutations may be found alongside native Russian ones

98
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(e.g. T > m, Russian T > 4).
Examples:
(c—, no-)npocHTE — -1npOcar (pom Y, cnpAmyWsaTh) ~npOineH ‘ask’; mobile
(Ber-)akcTures — —alcTar (aHmy) —qmen ‘clean’; stem (BblumineH)
{no—)Bo3Hte — —BO3aT (BOXY) —nosOxen ‘convey a while’
{(-)aobUTE — —kO6sT (I0OniO, HenontO6mBaTh) —m3miO6nen ‘favorite’ (adj.)
(n0—)CTABHTE — —CTABJCH (CTARIIO) —nocrAsnen ‘place to stand’
(o6~)puuliTs — —BuHAT (BUHIO) —06BuHEH, A, bl ‘accuse’; end-stress
(pa3—, o—-)nmatts — —ATIT (T1agy) ~IUIAYEH; stem-siress
(3a-)upette — —npeTAAT {(Ipemy) sanpeméd, ~A, O, bl ‘forbid’; end-
(Bo3—)BpatlTh — —TST (BO3BpamMy) Bo3BpaméH —A, O, bl ‘return’; end-
{c—)rnAmmrs — —AIAT (THAXKY) riAsxen ‘smooth’; stem-stress

This suffix also appears in obstruent stems, a closed class of important verbs. The suffix causes
bare softening, except in velar stems, where consonant alternation occurs. Examples:

(or-)Bectl — —Ben¥T orBenéH, otBenieHA, —O, —bl ‘lead away’
(or—)restl — —Be3VT OTBe3&H, 0TBe3eHA, 0O, ~-bl ‘convey away’
(za-)mectH — —Me1¥T 3ameTéH, —A, O, —bl ‘sweep off’

(npu—)obpectH — —obpeT¥Y T npuobperén —A —O —bl “acquire’

(ua—)ith — —#nYT HAlizeH, nAiinena ‘find’

(mpo—)itH — — HaYr npQiinen, npOifnena ‘go through’

(13—)meub, — —MeKY T HcneuéH, —A, ~0O, —bl ‘bake’

(c—)Kry, — —KIyT CONOKEH, CONOKCHA, coxokeHO, coxoxenbl “burn up’

The verbs listed above are important.

The suffix —a— is characteristic of a wide variety of productive classes in infinitive -aTb/4Tb/€Tb.
There is no change to the vocalic stem to which this suffix is added; stress is withdrawn one
syllable back from the infinitive stem-vowel in all four gender forms except in monosyllabic
stems, which may have mobile stress. This suffix, then, crosses all sorts of conjugational
boundaries and makes no alteration to the stem. Note that verbs with any mutation in the sg, such
as TIAKaTh, IWIAYY, NHCATE, nHITY use the bare infinitive stem in the past pass part.

HanucATs — HanMcan
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Bbl6pars — Bbl6pan

cobpats — cO6paH cobpaHA ¢cOOpato
norpE6oBate — norpEGosan

caEnars — cabEnan

cpEsare — cpEsan

—IIAKaTh — 3aIUIAKaH (—HBIE I71a3a)
B30pBATE — B30pBaH

(na—, 06o—, sbl}-3Bars —— HA3BaH, 0603BaH, Bbl3BaH
caepxATh — caEpxaH

ysHUeTs — ysWnen

(npo—)emotpETH — (Ipo)eMOtpen
(npo—)aars — npOnan npofa”A npOxaHsl

3.4 Translate and explain the following examples of past passive participles:
1. OcTaBbTe y HAC IPABE3EHHBIC BAMM IPEIMETHI.

2. Ha xakoM f3BIKe 3TOT NaMATHHK HalmHcad?

3. 51 roBOpIO O MHCHMAX, MONYYCHHBIX OT A0YCPH H3 AHITHH.

4. HazpaRHLIe KauAWIAThl JOJDKHBI SBHUTHCH HA YCTHBIE SK3AMEHEI.

5. A 3abyny Tebs 04eHBb CKOPO, KaK NPOYHTAHALIH, CTApBiH pOMAaH.

6. Ha xunre, HalineHHo# 6partoM B 6u61HOTeKe, HacaHa damumus TTerpos.

7. B nokyMeHTe, NpeCTaBICHHOM TIpe/iceNaTeNio, HeT HH aHAIN3a PEIPHHATEHIX 1HAaroB, HH
OleHKH HX 3QEKTHBHOCTH.

8. l'azompoBox “I0kHEBLI MOTOK” BocTpedosaH, oObaBun [1yTHH.
9. 1ot morok OyzeT Aanee pa3neaéH Ha JBE BETKH.

10. 3aBHCHMOCTE OT HAllIMX YKPaHHCKHUX cocelelt OyaeT B Onmxaiiniem speMeHd 3HaUHTENHLHO
CHHIKCHA.

11. 2.2 MuiHapaa gonsapos, noobemannbsx bapakom Obamoit OyneT akTHBR3HPOBaHO.
12. bripimaii npesuaeHT bunn Knuaton nprbeii ¢ HEOXWIaHHBIM BH3HTOM B [IXeHbsH.
13. Fpaxpanxa CUIA Jlopa JIur u FOra JIu 651 ocyxaeHEI Ha 12 leT HenpaBHTEIBHBIX paboT.

14. O6BunéH 3amecturens Onera boroMonosa, ryGepraropa Kypranckoi obnacty.
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3.5 Addendum on adjectives that act like passive participles. It has been noted (by Townsend
in Continuing with Russian, for example), that three adjectives behave syntactically like long and
short passive participles. They are attributive when long and predicative when short.

Thus: a) s gosoneH Bameii paGoroi ‘T am satisfied with your work’ — short form only

1a) BHI 9€NIOBEK, BEYHO HEJIOBONBHEIH COOCTBEHHEIMH yenexamy “you are a person (who is) ever
dissatisfied with his own successes’ -- long form only

6) Tans oueHs oxoxa Ha Mamy ‘Tanya is very similar to Mother’-- short form only

16) 1 x04uy XEHHTHCA HA AEBYIIKe, TOX0XeH Ha Moio MaMy ‘I want to marry a girl resembling my
mother’ -- long form only

B) ITana roros Ha Beé ‘Father is ready for anything’ -~ short form only

1B) 5 paj BRIETD Y€NIOBEKa, rOTOBOTO Ha Beé “I'm glad to see a person who's ready for
everything’ -- long form only.

One can periphrase the long-form examples with relatives in the nominative followed by short-
form adjectives, e.g. 2a) BbI 4eNOBEK, KOTOPEI BEUHO HEIOBOJIEH COOCTBEHHbIMH YCIEXaMH, 26)
2 X04y XEHHATHCSA Ha AEBYIIKe, KOTOpAs NTOX0kKa Ha MOK MaMy, 2B) i paj BHAETh YEJIOBEKA,
KOTOpPbIH FOTOB Ha BCE.

Compare the past passives in

I) A MHIOY O My3ee, IOCTPOoeHHOM Hamei ¢upmoit I am writing about the museum built by our |
firm’

1r) 1 mamy o My3ee, KOTOP&I nocTporna Hama gupma -- ‘T am writing about the museum which
our firm built’ -- relative in the accusative

2r) 1 nHmy O My3ee, KOTOPEIi 6buT nocmpoer Hamed gpupmoli ‘T am writing about the museum
which was built by our firm’ -- relative in the nominative followed by short past passive with
agent in the instrumental.

Consider other examples of long passives, such as

J) 5 9ATAK0 MOIyYEHHbIE OT BCEX eNaroToB A0KyMeHTH ‘| am reading the documents received
from all the delegages’

11) 9 uKTAI0 AOKYMEHTHI, KOTOPHIC S [IONYYHI OT BCEX ACNECIaToB

211) 1 YHTA0 JOKYMEHTHI, KOTOpLIE ObLii ROMY4EHb. MHOU OT BCEX JCAEraToB.

4.0 Translate into Russian, using participles (not relative clauses) active or passive, long or
short, as appropriate:

1. The teacher brought to the director the already written reports and says they must be translated
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into Russian.

2. 1 don’t know if I am satisfied with you, Vanya.

3.1 see that you are now ready to leave.

4. A student who has arrived at the university for four years must be ready for work.
5. I'want to love a woman resembling my second wife and satisfied with my salary.
6. I sat before the open{ed) window and waited.

7. That window was open an hour ago and it is open now again.

8. I saw people reading books and magazines and old men sleeping on sofas.

9. Please put the gifts you have bought into the suitcase.

10. 1 ask all those desiring to study Czech to drop by my office.

11. I ask all students who have travelled in Russia to speak to the new students.

12. This picture was taken by my father in Moscow.

13. T ask all students ready for the test to drop by my office.

14. You will see a wide street leading to the main square.

15. This must be told to students not knowing it before.

16. The terrorists might be killed by our bombs.

17. The beer was drunk up by the old professors.

18. 1 don’t know anything about the beer drunk up by the old professors.

19. 1 was talking about the books read by the students this year.

20. We are studying the work of scholars who died during the war.

Gerunds, or Verbal Adverbs

5.0 The verbal adverbs, like the participles, are hybrids; in their case, they are both verbs and
adverbs. They express tense and aspect, and voice {reflexive ~ non-reflexive), and may have
complement phrases; at the same time, they express a clausal adverbial relationship with the
main clause — temporal, causal, concessive, or other.

For example: Yaran Bacmepa, TIpodeccop SAxobcon 3anHcpiBan AMHrBACYeCKHe 3aMeTKH ‘while
reading Vasmer [a Russian etymological dictionary], Prof. Jakobson noted down his linguistic
commentaries’. Here the relationship is temporal, specifically co-temporal. It is important to
note that the verbal adverb expresses no overt nominal agreement, as indeed no adverbs do, but
its derived or implied subject is, or ought properly to be, coreferential with the subject of the
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main clause — the subjects of both the gerundial clause and the main clause are identical.
Compare English participial phrases such as “being of sound mind,” “having lost my support in
the Congress,” whose implicit subjects are coreferential with the speaker of the utterance, who
goes on, in each case, to say “I hereby leave this my last will and testament,” and “T will resign
the presidency effective tomorrow at noon.” On the other hand, consider the sentence “Having
been locked up and barely surviving in a madhouse for the greater part of a century, I did not
expect the old man to be responsive to my questions.” Is it the old man or the speaker who had
been locked up? Clearly it is the old man, but the utterance is felt, nonetheless, to be poorly
formed. So too Russian gerunds which do not have the subject, or at least the logical subject, of
the main clause as coreferent.

5.1 Verbal gerunds are present or past tense, and perfective or imperfective aspect. In contrast to
participles, gerunds are common both in written and colloquial speech, and are very frequent in
narratives, where they may be used to background and nuance sequences of events.

5.2 Function. Verbal adverbs invariably make up a compacted subbordinate clause which is
adverbial in nature, while participles modify a noun, ascribing an event to it as subject or object.

a) CryaenT, peIMUBIIMIA BCE 3a/1a49H, IONANI YIUTEIIO CBOH JK3aMeH.

“The student who had solved all the problems passed his test to the teacher.’
0) Pemus BCe 3aadH, CTY/ICHT OJJaJi YIMTEMO CBOH K3aMeH.

‘Having solved all the problems, the student passed his test to the teacher.’

Both sentences contain two events: the student solved the problems, and the student passed his
test to the teacher. The participial clause is a (restrictive or non-restrictive) phrase modifying
‘student’, while the gerundial clause highlights the sequence of two perfective events, solving the
problems and passing the tests. The substance of the sentence is the same in both cases. These
two sentences are very close, yet still have precise grammatical distinctions.

Elsewhere we can see how how the adverbial nature of the gerunds subsumes a great variety of
clausal relationships:

B) OH JI0NIro cMOTpEN Ha MEHA, HH OTBevas Hu c1o8a Ha MoH Bonpoc. ‘He looked at me for a
long time, with not a single word in answer to my question/not answering my question at all.” —
coordinate processes

r) I'ypoB Beimen, He Ckaza3/oTBeTUB HE croba. ‘Gurov left without saying/answering a word.’ -
perfective event and summation of process

1) He Oyay4yn cenHaimcToM, s He MOTy BaM moMous. ‘Since I am not a specialist, I cannot help
you. [lit.: ‘not being a specialist...’] - causal

e) Byayus pammuM OITH3KHM KOATIEToif H COBETHHKOM, S BCE—TaKH HE CMOT'Y BMEHIATECH B 3TO
kponorusoe geno. ‘Although I am your closest colleague and advisor, I nonetheless cannot
involve myself in this delicate matter.” -- concessive (rather rare with 6ymywi)
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%) [Toobenas, O6nouckwit 3akypun ‘Finishing his dinner, Oblonsky lit up’. -- temporal sequence

3) Jlonkcas Bee oKiaasl, Hepokud Bemuen norynsats. ‘After he had finished writing all the
documents, Nerzhin went out for a walk.’ -- temporal sequence

The relationship between the clauses, made explicit by English conjunctions, remains purely
grammatical in Russian. Note that attendant or co-temporal events or processes can often be
succinctly rendered in English with -ing verbals corresponding to them: ‘not saying anying’ =
HHMYETO HE OTBETHB, ‘not answering’ > He OTBETHB/HE OTBEYas.

There are cases where the English makes no distinction but the Russian has an important
aspectual/temporal distinction: Bozspamasce B Mocksy, oH Zyman ToibKo 0 cecTpe ‘Returning
home, his only thought was for his sister’ [while on his way home], BepryBIHCs 8 MOCKBY, 0OH
cpa3y moexan K cebe B odpduc ‘returning home, he immediately drove to his office” {having
returned to Moscow].

As participles may pass into pure adjectives, gerunds may become adverbs, such as MOmga
‘being silent’ > “silently’, #e myTs ‘not joking > in earnest’, cnoxA pYkw ‘folding one’s hands >
doing nothing’. Stem-stressed cHus *sitting’, c1O1 ‘standing’, n&xa ‘lying’ are often pure
adverbs.

5.3 Formation.

5.3.1 The gerund in -#/a, called the present gerund, is formed primarily from imperfective verbs.
Not alt stems permit its derivation. The suffix s (written a after hushers) is added directly to the
present stem, e.g. the 3rd pl minus —sot: unTAs ‘reading’, ukTYs ‘dictating’, rosopS ‘saying,
speaking’, cnpAausas ‘asking’, cnblma ‘hearing’, naBAs ‘giving’, nponasAs ‘selling’,
BcTaBAs ‘getting up, rising’, y3HasAd ‘recognizing’. Note that ‘wishing, wanting’ should be
translated xenAs, as xortd means only ‘although’ (conjunction). This gerund is rarely formed
from 1st conj mutating stems like mucarts, mamy or velar stems like Gepeus, Gepery ‘preserve,
protect’.

A number of perfectives of stems in dental consonants are found with this gerund, such as mpaast
‘arriving/having arrived,” Boiaf ‘entering/having entered mpueen ‘bringing in‘having brought
in’. Note that they function just as do perfective past gerunds.

5.3.2 The suffix s and its abbreviated variants B, mm form the past gerund, added to the past
stem of perfective verbs. The gerund in B, Biu corresponds to the active participle in prmmii, and
the gerund in 1 to the participle in mmit. Some examples:

HanmHCATH HaITMCAB, HAMUCABITH
caEnate cnEnas, cnEnasum
OPOYHTATE  NPOYHTAB

cyMETB cyMEB

zamedTecH  zacMeSIBOIMCE
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orBETHTE orsETuB, OTBETHBIIH
HaydHiteca  HayuMBumics

HPOKHTH npoxis

B3ATH B34B, BIIBMHE

Ha4ATb HadAB

IOAOKIATE  MOAOKIAB, TOIOKIABIIH
npunéctH NpHHECITH

npuobpectl  npuobpETIN
ymepETh yMEpinn

crepETE CTEPILH
Boirt! o Emm
naittl maitas] (HawF )

Reflexive verbs require the particle —¢& (never —ca); in the past gerund, they are built from the
suffix —anm—: BosppamAscs ‘returning’, pepHYBimuce ‘having returned’. In older Russian the
full suffix —mu— was considered specifically causal: cHsBIM Na/16r0, OH NOYYBCTBOBAJ XOJIOH
‘having taken off his coat he felt a chill.” For your purposes use mu only before the reflexive
particle and do not seek to convey this ‘causal’ gerund.

5.4 Translate into English:

1. 3anpmascs rmasHBEM 00pa3oM A3RIKAMY H JIRTEPaTypoOi, 3Ta CYICHTKE HHTEPECYETCH H
ECTECTBEHHBIMH HAyKaMH.

2. Yuras razerst Ha 6oIrapckoM, 8 yaych Honrapckomy.

3. Bepaysimics u3—3a rparunsl, Ilomos noexan na paborty Ha 3ason.

4, Paboras noMa 3a CTOJIOM, A CIYLIAN IO pagHo POK-KOHLIEPT.

5. Octapus 6adymIKy B CTIAIBHE, S TIOEXAN C XKECHOH B pecropaH.

6. Hagas Bodiny u mup ToscToro, 1 He MOT €10 OCTABMTE H YHTATl BCK) HOYE.

7. Kupa gecarte et B Poccuu, ¥ HayIHIICS FOBOPHTH [TO—PYCCKH.

8. [Tocuaes co MHOH OJITOpa Jaca B CTONOBOH, MO JKeHa BAPYT PEIIHIa BLIHTH.

9. Huuero He OTBETHB KCHE, S BCTA M BCE BPEMS CMEACH, BLIUIE] HA YIHILY.

10. SBasscs cronunei Hameil 3eMan, BalMAITOH A0MKEH KMETE KPACHBEIE IUTOLNA/IH.

11. ObxBatkB rojioBy pyxams, Msan JIMHTpHY NekKan B KPOBATH.
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12. ~—— DT0 DpOCTO CIYNOCTh — CKA3ajl OH, MPHIOTHHMAACH | T4 Ha ROKTOpa O0AbIIHMH
KpPacHBIMH [TIa3aMH.

13. IfpoMOKIIH 0 HATKH, A HOIEE] JOMOM, pasiencd H MPHELT Ty 1.
14. Kaxp1it ieHb JI0XKACh CNIaTh OYEHE PAHEO, OH JOJATO AyMad 0 CBOEM HETOBKOM HOJOXKEHHH.
15. IlpocayBmmch Ha Apyroif OeHs YTPOM, 1 BCIIOMHHII BCE, YTO CIYTHIIOCE BYEPA.

16. ITpouutas Bcero Bacmepa, SIko6con B3sicd 3a COCTARICHHE GJIccmm’eﬁ ITAMOJIOTHIECCKOH
crared “Uuras Bacmepa.”
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RUSSIAN CONDITIONS

Pregent General

If I see the Queen, I wave my hands.
Ecnu a4 BHXY KOponesy, 8 MaWy DyKamH,

Past General

If I saw the Queen, I would wave my hands.
Ecnu A Bumen KoponeBy, A Maxall PYKaMH.

Future More Vivid

If I see (=if I will see) the Queen, I'll wave my hands.
Ecnu a ysuxy Koponemy, s 3aMamly pPyKaMH.

Future Less Vivid

If I were to {=should I) see the Queen, I'd wave my hands.
Ecnu 6u A yBHOen KopoJseBy, A 6GH 3aMaxan pyKaMm#.

N.B. Future Less Vivid apodosis can be replaced by Future More Vivid,
both in English and Russian,i.e.

Should I see the Queen, I'll wave my hands.
Ecnu 6m A yBHuen KopoJseBy, A 3aMamy pPYKamH.

Present Contrary To Fact

If I were rich, I would be living in the Soviet Union.
Ecnu 6u A €unn Gorar, A Hm xun B CoBeTckoMm Cowse.

Past Contrary To Fact

If T had seen the Queen, I would have waved my hands.
Ecnu 6a 7 yBHOen KoponieBy, A 6H 3aMaxall pykKami.

Notes:

1. The Future Less Vivid and the two Contrary To Fact conditions
are often subsumed under the heading of "unreal" or "improbable"
conditions. The three conditions can be identical in form and then
context must decide which is appropriate.

2. When the protasis precedes the apodosis, then mo may be
used at the beginning of the apodosis (this element is omitted in
translation into English, or is rendered by "then"), e.g.

Ecnu 6 ©H cjpenan 3Tto, (TO) S 61 2HAN 06 3TOM.

006076 -
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1.
12.
13.
14,
15.
16.
17.
18.

1Q

Ecnm

Ecnm

Ecnu

Ecnu

Ecnn

Ecnn

Ecnn

Ecnn

Ecnu

Ecnu

Ecrm

Ecnm

Ecnu

Ecrm

Ecnu

Ecnn

Ecnm

Ecnu

Frrmu

Gl

Gl

Gt

OH

Gl

(&1

Bbi

Bl

Gbl

’ L4 I rd Id ' d L4 I
rocnoavH XopHap BydeT KywaTe xopduyi efy, TO oH Byget spopos.

”~ I'd Id ’ rd
G4 Mbl BCE CNywand BHMMaTensHo, Head bwl nenm MO~PYCCKH.

Bui

OH

Ol

Ot

Gol

Ol

Eul

At

ADDITIONAT, CONDITIONS

Fd Id » rd » . ’
WBaH HanMcan 3Ty KHUry, Mapua Gu ee npounTana.

Ld Ld I4 I r
B NOWNW B TEaTp Buepa, Bui Bubl BCTPETHIIM DYCCHMX.

» I Id , [
BCE WWNM Tenepb B ropofae, BalW cbhiH MOr Ob XOAWMTb B WKONY.

rd rd Id Id
GyneT Tam, A cnpowy ero off 3ToMm.

L I'd
A CMOTpEén TeneB’sop, A 6un.6Gu cuacTiMe.

Id » I L4
noroga 6Gwna nydwe, A Gon Bw Ha nMNAXe.

r - Id Id
A 2HaNn pyYCcKWMiA A3bK, A Bun 6w B Mockse.

» 4 r I
Nan Hoc3k #wn B Bapwase, oH rosopuvn Be NO-NONbLCKM.

an rd
MBdn nowdn 33BTpa HA KOHUEPT, OH yBWAen 6u POXAECTBEHCKOrO.

OH4 B3ANd TeTpagb, yuiTenshnua G paccepawnach.

rd r I'd r ,
npueaeT 3asTpa, MapuA ynetuT B Tlapux.

F Id rd
Mbl CUMOENM CAOKOMHO, Mbl MOFNM Gbl AMCATL NWCbMa.

' ,
OH cnan xopowo, oH Gun 6w goma.

[OF8

’
e Id
Bb HOCMNM cBoé HdBoe nnaTbe, Bul CMAENW 6bl HA MpecTéne AHrIuW.

» I r ’ 'l
OHA roBOpuny no-Hemeukun, UMMt Bbin G OueHs AOBONEH.

rd ’ ’ .. »
y Hero beinu geHern, oH wen 6w Kk Mapwuu.

: ’ ’
[TTR) MALALDS ML MA=AATNROKIA

’ ,
M Aninu Rl R Huwkarn
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REFLEXIVE VEREBS

A In Russian one must distinguish between 'real reflexives' (henceforth:
RR) and 'reflexive-verbs' in -sja (henceforth: -8JA VERB).

B BR forms are transitive verbs plus the reflexive promoun, usually the acc.
ceBA, sometimes the dat. ce6é, and sometimes the instr. cobdii/cobdu.
What we understand as reflexive verbs (forms) in English (i.e. reflexion
of the action back onto the subject), will nearly always be rendered in
Russian in this way, e.g.

1. I hate myself.
A HeHasuwy cebA.

2. Pan Nosek devoted himself to Russian.’
Mlan HOcak nocBaTHn cebA pycCKOMY A3biKY .

3. The Queen considers herself my best friend.
Koponéea cuutdeT cebs MOWUM NyudwuM ApYroM.

4. The major killed himself. (committed suimide) -
Maidp yBun cebs.

C "There are now some fixed ER expressions in cebA. Originally these were
no different from B, but they now have a 1life of their own, e.g.

1. to get a hold of cne's self.
© B3ATbL ceBA B pyKHM.

2. to behave.
Fd rd -
BecTH cebs.

3. 1o deport oneself.
ACPXATL cebBd.

L. +to feel.
uyscTBoBaTh cebA.
D Fixed RR expressions in ceﬁé, e.g.

1. to allow cneself.
Id
no3ednuTb cebe.

2. to imagine.
npeacTdBuTL cebé.

3. to picture to oneself.
B0o06pasnuTL ce6é. ]

4. He couldn't forgive himself this mistake.
OH He MOr nMpocTUTb cebé 3Ty owwbky.

5. He found himself a seat.
On Hawén ceBé mécTo.

1

000078




John Dingley /?2)

REFLEXIVE VERBS

B Ethical RR forms in ce6é add a 'touch of coziness' to the action depicted,
a.g.
l. He 51ts quletly at home , readlng novels.
OH cmanT cebé noma M UATAET DOMEHH,

2. He lived a carefree live, grOW1ng flowers
OH wun ceBe Ge33abSTHO u paasonun uBeTu

. 7 s, .
F RR forms in coboi/cobow cccur when a verb governs the instr., e.g.

1. to cqntrol qneself.
BnageTtb cobon,

ef. 2. to know (have control of) a language.
BMAAETh A3LKOM.

3. tq sacrifice oneself.
’U
KepTBOBaThL coboit, -

ef. 4. +to sacrifice one's life.
Id r
KepTsoBaTh WW3HLIID.

G Impersonal =SJA forms.

Almost any imperfective (usually intrans.) verb may have such a form.

It commotes an action somehow independent of the will of the actor. The
English translation is often best rendered by 'can/can't'! or 'do/don't
feel like'. If the logical subject is expressed it will be in the dat.,
e.g.

1. I can't get to sleep.
MHe He ChWTCA.

2. How's life treating you?
Kak Bam wmeértca?

3. One can wq;k well here.
I
TyT xopowoc paGoTaeTcAa.

'I feel like/don't feel like' is usually rendered by the impersonal of
XOTEeTbk, €.Z. oo

k. I don't feel like working.
MHe He XxoueTcA pa60TaTh i;' L 2

H Imperfective passive -8JA forms.

(See 'Passive Handout'.) It should be added that the subject of an im-
perfective passive in =8JA must be inanimate, e.g.

1. The cars are belng washed
ABTOMOGUIIM MOOTCA.

0000
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REFLEXIVE VERBS

When the subject of a =3JA form is animate, we are not dealing with the
passive, e.g.

2, Mbau MéoTCA.
The people are having a wash. (See later.)
(Not: The people are being washed.)

I As noted in H, only imperfective verbs form their passive with -sja.
Therefore, if a perfective verb occurs with -sja, it must mean something
else. Usually this something else will be an intransitive counterpart to
the transitive original verb. (This is often styled the middle voice.)
However, imperfective verbs with -sja may cccur with this intransitive/
middle meaning, and context will decide bhetween passive and middle, e.g.

1. AHTSH 3aKpHin ARepsb.
Anton closed the door.

2. [eepe 6bind 3akpuiTa ARTOHOM.
The door was closed by Anton.

3. fAeepe 3aKkpeiiacek.
The door closed. (perfective middle)

L. Antdn 3axkpwiBdn AaBepb.
Anton was closing the door.

5. /lBepb 2akpuBanacbk AHTSHOM.
The door was being closed by Anton.

6. /Bepb 3aKpuBanace.
The door was being closed. <(passive)
or The door was closing. (middle)

J 411 verbs in -8JA (other than G and H) are intransitive, i.e. they never
take a direect object in the acc. case. This is the only property that
they share. Certain categories of -3JA VERBS can be isolated:

K General intransitive verbs in -SJA.

Here the addition of -sja to a transitive verb converts the wverb into an
intransitive .verb {(cf. I), e.z. L .

1. OH BO3BpaWdeT KHWIM. T

' ¥
He is returning the bookses (frans.)

2. OH BO3BpawdeTcA u3-3a- rpaHdubl. L
He is returning from abroad: {intrans..)

1
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REFLEXIVE VERBS

3. OH npogonwder pabdty.

He continues the work. (trans.)
4k, Monudnwe npogonkdetcs.
The silence continues. (intrans,)
L Many intransitive, with no transitive counterpart, have no -sja, e.g.
1. cnewdTb -- to hurry (ef. TopondTecs -- to hurry)

2. cnate == to sleep
and many, many more!
M Sometimes a trans. verb adds -sja and the resulting verb controls an
cbject in a case other than the acec., e.g.

1. 0Ndnkm 3anuMdnT BCO CTEHY.
Shelves occupy the whole wall. (trans.) -

2. O0Hd szanumdeTcA naToukum A3bKSM. (instr.)
She studies Latvian. '

3. MeHA He uHTepecoBdnu mx Haméperus.
Their intentions did not interest me. (trans.)

L. OWd uHTepecyerca wdxmaTamm. (instr.)
She is interested in chess.

5. OH He cnywaeT MeHs.
He's not listening to me. (trans.)

6. OH He cnywaeTcA mHe. (dat.)
He doesn't obey me.
N The so-called true reflexives in -3JA.
Compare these sentences:

1. OH4 ogesdeT pebEnka CO BKYCOM.
She dresses the child with taste/tastefully. {traas.)

2. OHA ogesdeT ceBA CO BKYCOM..
She dresses herself tastefully. (RR)

3. OwWa opeBdeTcs CO BKYCOM. :
She dresses tastefully. (intrans.)

Note the following examples also:

4. A mdce YTpom. R :
I wash (have a wash) in the morning.

5. Mol MPUUECHIBAEMCA BEUEPOM.
We comb our hair in the evening.
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REFLEXIVE VERBS

O The so-called reciprocal -SJA VERBS.
Note the following sentences:

1. Mo ecTpéTunuce Ha ynuue.
We met on the street.

2. Mu nouencBdnucCh.
We kissed.

At first blush these seem to have clear reciprocal meaning., However,
not all verbs can add -sja and obtain this nuance, e.g.

3. OH nbBut eé.
He loves her.

L., #*0ni né6atca. (impossible)
for: They love each other.

Recrprocity is expressed by the appropriate form of apyr gpira, e.g. -

5. Ond ndBAT apyr gpyra.
They love each other.

Often the so-called reciprocal -S5JA VERBS will use the appropriate form
of apyr npira to stress reciprocity, e.g.

6. OHA nO3HaKSMMNUCSH.
They got acquainted.

7. Ond nosHakdMMAMCh GPYT C APYIOM.
They got acquainted with each cther.

Further evidence that the so-called reciprocal -3JA VERBS do not express
reciprocity can be seen in forms such as:

8. A oBHANCA C HuM.
I embraced him.

Here the sing. subject rules out reciprocity.
Conpare:

8. A oBHAancA c HumM. .
I embraced him. (I ‘nitiated the action, and he responded.)

9. f 86nan erd.
I embraced him. (I initiated the action. He was passive.)

10. Mui oBHARUCSH.
We embraced, (No stressing of reciprocity.)

11. Ml OBHANW gpyr apyra.
We embraced. (Reciprocity gtressed. )

12. Mo oBHAMMCH apyr c npfrom.
We embraced. ({7 Reciprocity stressed. )

000082
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REFLEXIVE VERBS

P General Characteristic.
1. Cobdka kycdercsa.
The dog bites. (general characteristic)
2. Cobdka kycder pebenka,
The dog bites the chiid. (trans.)
3. Ndwagbs GpuikiertcA.
The horse kicks. (general characteristic)
L. DNdwape Gpuikder pebinka.
The horse kicks the child. {trans.)
5. Kopdea Bopdetca.
The cow butts. (general characteristic)
6. Kopdea 6ogder pe6emka.
The cow butts the child. (trans.)
Q Intensification of an intransitive wverb.
1. On nnduer.
He's crying.
2. OH npnduetch.
He's crying his heart out.
3. 0w crtyuyder B geeps.
He knocks at the door.
L. OH cTyuydetca B aBepsb.
He bangs on the door.
5. OH 3BOHMT.
He calls/rings.
6. OH 3BOHWTCA.
He calls and ecalls.
R Prefixing of an intransitive verb with -SJA.
Exhaustive: ma ... ¢cA, ¥ ... cA, Bt ... CA
1. Ox wmcnucdncs.
He's written himself out.
2, Ou yBéranca.
He's run himself into the ground.
3. OH esiBerancsa.

He's run himself into the ground.

090033
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excessive: H3 ... cA

L. Monopgsie ndgm HaTaHyesdnKch.

§1%

The young peopls danced to their hearts' content.

diffusive: pas ... cn

5. ConpdTte pasownice.
The soldiers dispersed.

resultative: go ... cA

6. Mu QOroBOpPWMNAMCE O gHe BCTPEUM.
We agreed a day for the meeting.

together: c ... cn

7. OHK cowndcsb.
They came together.

exchange: nepe ... cA

8. Mw pasHd nepenvcuHBaeMCA.
We have been corresponding for a long time.

3a ... CA

9. Jtor cTyadHT saywinca.
This student has studied too much.

Stimulative.

1. A cerdpHa nocTpurca.
a} Today I cut my hair. (myself)

b) Today I got my hair cut. (some else did it —-

2. A nobpuncs y napukmdxepa.
I got shaved at the barber's.

3. OH paseenca c Heit.
He got divorced from her.

Lh. OH chHumdnca y dotdrpaga.

He had his picture taken at the photographer's.

Unintentional.

1. MNpoxogd no TémHol kdMHaTe, OH YA3pUACR KonéHom
Passing through the dark room, he hit his knee

2. OH paccmednca w yadpun ceBd naadHbo no konény.
He burst out laughing and hit himself with his

]

000034
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Involuntary.

4 o - -
1. MHe NpUCHHUNCA MOW NOKGHAHbI oréu.
My dead father appeared to me in a dream.

2. Mue scndmuHanace 3Ta Houb.
That night came back into my mind.

3. A ecndMHan 3Ty HOuUbL.
I recalled that night.
Aspectual Pairs.

Some aspectual pairs have a -SJA VERB in the imperfective, and a non-
suffixed verb in the perfective, e.g.

1. nowdTbcA/news -- to lie down.

2. cagiTecAfcecTs -- to sit down.

3. cTaHoBUTBCA/CTaTh -- to go and stand.
Deponents.

Scme verbs exist only as a -SJA VERB, e.g.
1. 6opdrtbca == to fight.

2 60ATbCA -- to fear.

3. HapéaTbcA —- to hope.
L. cmeATbCcA -=- to laugh.
5. yneBaTecAa -- to smile.
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VERBS OF PCSITION AND POSITIONLNG

GRoup "a" {taking a position)
to lie down I nNOKUTCR
P neus
to sit down I caguTekCA
P cecTb
to stand(up) I craHoBUTbCA! I ecraedTh?
P cTaTtb! P ecraTe?
GrROUP "B" {putting in a position)
to place flat I knacTte

P nonowvTb

to place upright I cTdeuTs -
P nocTdBuTb

to place sitting I caxdTe
P nocagUTe

to place hanging I séwaTs
P noeécuTe
GrOUP "C" (being in a position)

to be lying I newdrts
P nonexdts (npo-)?

to be sitting I cuaéts
P nocuaérs (npo-)?

to be standing I cToATh
P noctodts (npo-)?

to be hanging 1. BucéTh
P nosucéte (npo-)?

NOTES

' This verb requires special comment because it does not have a closely

corresponding verb in English. It means "to assume a standing position" and
almost always describes motion from one standing position to another, e.g.

OH cTan Ha sckandtop. (Already standing) he got on the escalator.
OH cTan 8 Suepeab. He got into line.
Cf. OH cToan B Ouepegu. He was standing in line.

This verb also means "to become", e.g. OH cTan yunaTtenem.
The perfective (cTaTs) plus infinitive has the meaning "to begin to", e.g.
Bépa cTdna umtdTe. (Cf. HaudTe) CtaHoBMThCA cannot be used in this meaning.
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This verb means "to stand up" from a sitting or lying position.

Group "C" verbs, while they have no ‘'real' perfective counterparts

are frequently prefixed with no- 'a (little) while' or with npo- 'for a
certain period' (this prefix is particularly common if the amount of time is
specified (ten hours, eight weeks, the whole day, etc.). If the time is men-
tioned but indefinite (several minutes, a short time) no- is likely:

. .

MW =2 o0 oW o

H R R e e
oo o

15.
16.
17.
18.
19.
20.

Mosi MaTs nponewana gécATb gHeR & GonbHMue. My mother spent ten days in
hospital.
Bam NpuaETCA MOMEeXdTb HECKONBKGC AHed.  You wiil have to go to bed for a
few days.

Both no- and npo- are used in these meanings with a great many other verbs.

Id
NOKMTBLCA
neus
cagMThCA
cecTb
CTEHOBWUTBLCA
cTaTe
BCTaBaTh
BCTaThb
KNacThb

rd
NOMOKMUTh
[d
CTABUTL
NOCTABUTH

I

CaxaThb

Id
nocagnTe
séwaTs
NOBECUTb

L4
nexaTh

’
CUAeTL

rd
CTOATH

BMCETH

CONJUGATICNS

NOKYCb, NOKATCA, NOKATCA
rd Id rd ' Id a2
BACY, NAWews, NAryT / nér, nerna / naar (imp)
CaKycb, CaAMTCA, CaafaTcA
rd » rd 14 -
cAny, cAgews, cARYT / cen, céna / cagb {imp)
» Id
CTaHOBAKChL, CTaHABMTCH
CTAHY, CTaHeT
BCTaﬁ, BCTaET
BCTAHY, BCTAHeT
Knagy, knaasdwe / knan
nonoxy, NONGKMT, nondiaT
CcTdBNO, CTABMT, CTABAT
/= cTdsuTe/
cawan
’
nocaky, nocaauT, nocidasT
Béwain
noeéwy, NOBECUT, NOBECAT
rd rd Id
nexy, NewnT, nexaT
CHUKY, CHMAMT, CUAAT
CTOW, CTOMT, CTOAT

K3 r I
BWUWY, BWCHMT, BWUCAT
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imperfective
Id

aMcaTh

r
oTBEYaTh

’
paccka3awBaTh

L
McyesaThb

I'd
OTPEe3aTsh

6paTe

ASPECTUAL PAIRS

perfective
’
+ HanueaTe
L4
+ OTBETHTL
Id
+ pacckasaTs
Ld
- HCUYE3HYTh
’
+ oTpesaThk
« - B3ATH

00008
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prefixation
alternation
-biBa~ infix
-HYTb semelfactive suffix
stress shift

suppletion




